








Directivity?
• Dipole in free space, and a monopole of half 
the length above a perfect ground plane will 
have the same radiation intensity in the top‐
half plane (since fields are identical).

• If the dipole emits power P, then the 
monopole emits power P/2, since the fields 
are zero in bottom hemisphere. 

• Thus,  , whereas  for the monopole, 



Radiation resistance?

• If the dipole emits power P, then the 
monopole emits power P/2, since the fields 
are zero in bottom hemisphere. 

• Thus, , whereas  for the 
monopole, 

























Loss‐y Earth

• For lower frequencies, (<3 MHz), PEC is not a 
good approximation.

• As engineering design, to improve radiation 
efficiency often metal plates are placed below 
antennas to simulate PEC planes.














